Opérations avec deux fractions (C)

Nom:

Note:

Date:
Calculez chaque résultat.
E'E_ X = 11 1-|-1_
3717 - 33
2.2 _ L 2_4 _
975 3 9
Ll
9 3 9 2
1+4— 14 2+2—
3 9 5 5
8 4 152 I
9 9 3 3
1.2 o B y 1><1—
45 N 372
1;5— X = 17l><1_
2 19 N 17 72
1'4_ X = 18 1-|-1_
14 ° 5 - 77
4 1 _ o 2x L =
9 3 7711
2 _ 0 Sx i —
3 9 8 7
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Opérations avec deux fractions (C) Réponses

Nom:

Date:
Calculez chaque résultat.
3717 3713 39 33 3
2><2— 4 122 4_ 2
975 45 3 9 9
1,1 _ 4 W Lol 12
9 3 9 92 971
L4 _ 7 W 22 4
39 9 "5 5 5
8_4 _ 4 s 2.1 _ 1
9 9 9 3 3 3
1,2_1)(5_5 Ny 1)(1_1
45 472 8 372 6
1.4 _1 13 19 L Lt 7
2°19 2714 28 1772 34
1-4—1><5—5 . 1+1_g
14 "5 1474 = 56 7 7 7
4 1 1 w3l _ 3
9 3 9 7711 77
2_1_ 5 o Syl _ 5
3 9 9 8 7 56

Note:
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